P

()

112 8 & Rt p R~ SF T S /:  FLa 220K

- %p | BN ool B 13
( )p ¥ L1913 3 0 27p (=)~
(=)= / ‘*’%’ﬂh
1.7¥% % :13:05~14 : 50(% 5~ 6 &) ; 3 302 ?zz(aﬁ?f b g - B X
S ERERE G mﬂ%ﬁﬂ’ﬁ‘fﬂ% TR FHE )
® 1 13:05~14:50(% 5 &) 5305 #2 (S FF 2 d Kibmh- o L™
Q%W*$G$T%@%$§K$k§“ﬁ“ '

N
o
S

(.
ff;“

3343 115:05~15:45(% 7 &) 3302 & %

ooy ¥R - s D BB LT
(-)FARFLrf- F3FATVEHEL
(Z)E- P FT usTs L H R R 5 mE AP LR RS
Lﬂ%%§£*W%$*ﬁaiﬂ%’%§%lf’”ﬁk*°

o ELPpH T4l 1134# 30 13 (&ﬂs)Lo %ﬁ*3ﬂ139M4V01J4430”

2
A b e33R google £ H =
7~ )Z IE‘ %Fﬁlq

@,
ol
|~
&
*%%*
e
B
m

1y
£
%
=
b

(-)iF% AER EHDF > 25 FMA LU e A @ ¥ R \
EENIE S AL L N éféié%iéw AR LR ALY
()P R R FELF — [REd s i ]
EAVRFERY d RBRATFRLEY T RRYFIIERY Y 2§

(Z2)F5F75:200F (5 ~F7% 100 ) W*F-2 p+ L84 1L 38 Fee7 3
o3 F K TINEB E 3P 31 p 4 (88) i F % 88034600 B o F 2 [ RKE
— 3 53 FA A E oK TILE T RFIEETH, 25,5
_'2_’%0
o AR
(—)IE‘—?

ILpFedt F 50% -
2BIEL S FE 1 L 40% o
3.FMeiRgk 4 10% -
(=)73#
LiE4 (4 % #59) 0 & 45% (1972988 & 37 31 0 4 (88) 35 % ¥ 88034600 5L =
w2 TRF-F53%34, 54)

Zﬁ'rﬂ(w??’ ;‘?’3_%):"’45%"
3§J§~('£5 SRR EAE) D 10% -
(3).—\1‘-‘5.—\1

R N S O S T
29&15’]‘;“}5 PR E LS R o
L‘E'z A - Z-‘B&—g—,‘,:: fﬂ o

|
*@?

(~)‘-¥‘— AR ERLH O P S MR
(Z)% = g ke o m?fﬁfmfr P LR R
(E)F= ¢ e n o el pla x> NFRE -

\‘ili%lﬂ\’[f'i‘)}*c rllB«ﬁ-‘}_‘ﬁ]’I?m%a & BhA ?“3’?%
(-)FF 3%~ LA g (U3 EXREL RFT N
(Z)iF2 2% - ~ - 2R & AR S Fllsﬁinpgﬂﬂ%er@r%m F
CE)PHes- triifegsh TU3ERE RFTANFR



